@

Hanjiu Hydraulic

AREZENRFEIRAE

SHIUIAZHUANG HANJIU TECHNOLOGY CO.,LTD.

10RINEREHE O
Hydraulic Steering Units 10 Series

102 2R ERBSHRIENEMNEH, eI UEMR
1B, HIa0: EMARREDZHIR.

10R3I7= 6o/ 2 NI A3 T2/ TR\ BT ENBEIENAOA
PREEMER AR, SSIMBABRNNT, EHRABRNNED
SBEIRIEHE; BRARE. R, Z2UF; ERNEL[R TN
PIERFEDBOR @RS, FHLLBIRETTF NS &
BEIENDEFIRE, TUSMEARFENIIEEND. EPENS
=,

103 REVEBRR THEErinE. 1085 eigiRE
EFMEEINGH, DU N6/TELSIIFIA/SEBRHAR
.

6/7TSEMART: RBEZRTXID 101, 102, 10373

(HP: 102R3BERR T EBZZRIIFEZERT—B) ;
4/5EEHART): EXN109RS, BRFHKAPIES
IREH119. 12973,

10RIFRRIERADLAR; FTRINIRRESSENE
EENEBNBRX AL AR TR, EIREFES; RER
TAHERENE, FSRINEERENDR, XFHTTRA
B 6o, SRZERNEPRURBIRT, NERZERLUL
B4R,

101, 102, 103RFIESIRBRP13, 109R5ESEN

o

P47

Hydraulic Steering Unit 10 series is integral hydraulic steering unit, the
valve body of rotary valve is integral structure, then the steering unit
can integrate with cartridge valve, such as the pressure control valve
of the integral system.

Hydraulic Steering Unit 10 series is widely used in the steering control
system of different kinds of engineering vehicles, such as the steering
system of many kinds of industrial and agricultural mobile machinery
forklift, loader, road roller, tractor, combine harvester, and the ship
helm etc. The steering unit can control the steering cylinder with
bigger resistance force by inputting minor force; It's easier, flexible
and reliable; The integral check valve can prevent the system
pressure oil from anti-vibration , and prevent from “hit-hand” during
the steering operation; Integral pressure control valve can control the
operation pressure and the shock pressure of the steering system.
The mounting dimensions of Hydraulic Steering Unit 10 series are
consistent with the international standard. According to the structure
of gerotor set, Hydraulic Steering Unit 10 series can be divided into 2
series: 6/7 teeth structure steering unit and 4/5 teeth structure
steering unit.

Hydraulic steering unit with 6/7 teeth structure: according to the size,
this series may be divided into 101,102,103 series ( among these
series, the mounting dimension of 102 series is consistent with that of
BZZ series; ) Hydraulic steering unit with 4/5 teeth structure: it's
defined as 109 series; according to special requirement of special
customers, then we develop 119 and 129 series on the base of 109
series.

10 series SCU integrate inlet check Valve;Each series may be divided
into 2 series acording to the steering unit integrating cartridge calve or
not, SCU without valve and SCU with S,SCU without valve doesn't
integrate pressure valve,SCU with s integrates pressure valve As for
open center non reaction steering unit,"1" represents the SCU with
relief valve and shock valves,"4"represents the SCU with relief valve.
Please consult P13 for the introduction of 101 series,102 and 103
series, while P47 for 109 series.



@ AREZENRFBIRAE

Hanjiu Hydraulic SHIJIAZHUANG HANJIU TECHNOLOGY CO.,LTD.

10RINERERBOSE
Hydraulic Steering Units 10 Series

AI=45% B8 Order Code

0w 0 0-0-0-0-0

HORS
Ports Code

ZERERER

Relief Valve Pressure Settings

e

Displacement

— 1.7 ME 1:0pen center non-reaction
— 2. FF VB MNE 2:0pen center reaction

L, =
DJEC_ES —1— 3T MA 3:Closed center non-reaction
Function Code — 4 FFNIcSMES 4:0pen center non-reaction
— 5:RAETERXE 5:Load sensing
ERRIRC — S:ESEERRIR S:Integral Valve
Code for integral valve L R RESEE AR Omit:Without Integral valve
PREN — 1 E—IMEER YR, 1:1st mounting type
ROIEATSA T 2 nove
) — 1 22ZFTiEER YR 2:2nd mounting type
Code for Series — 3FE=FMEER YA, 3:3nd mounting type
L 9:109% R Ui 9:Mini SCU
BRI REROES

Cycloid Rotary Valve Hydraulic Steering Units




@

Hanjiu Hydraulic BREENRRBIRAF

SHIUIAZHUANG HANJIU TECHNOLOGY CO.,LTD.

10RIERERBSE
Hydraulic Steering Units 10 Series

RI245#AF Order Code

—_

o1r — L) —0bit]—[J

HOAR

Ports Code

- H=

Displacement

e S

Function Code

101 2RI REROS(RSERIR)

101 Series Hydraulic Steering Control Units(without integrated valve)

I EERFS Function Code

101-1 101-2
FOT /RN THOEBERAM
Open Center Non-Reaction Open Center Reaction

101-3
Mo/ M
Closed Center Non-Reaction




*

Hanjiu Hydraulic AREENRRBRAF

SHIUIAZHUANG HANJIU TECHNOLOGY CO.,LTD.

101-1. 2. 3 RIILHIEHKEEE
101-1,2,3 Series Hydraulic Steering Control Units (SCU)

FEHFH A SE Main Specification

Parameters Type  101-s-sesksk-%
Function Code 1,2,3 1,3
Displacement(mL/r) 50 63 80 100 125 160 200 250 280 315 400
Rated flow (L/min) 5 6 8 10 12.5 16 20 25 28 315 40
Max. input pressure (MPa) 17.5
Max. cont. back pressure (MPa) 25
Weight (kg) 5.70 5.76 5.84 5.91 6.05 6.25 6.45 6.68 6.86 7.06 7.45
Dimension L (mm) 130 132 134 137 140 145 150 156 161 166 176

i%E#E R~ Mounting Data

$8210.3 16/32-12-30° (SAE)
depthi$
n : 5
(H—4 \\
= — \ p—
o3 M
< L. L. M. w0 @ [ P
< I < e 2 £
g = 71—
H 2
. 60
7 28 44
L
s Ot24r Ports Threads
9 P. T. A, BBO ERIRLC ERIRLV
Code Ports P, T,A,B Column Mounting C Valve Mounting V
A M20x1.5
B M20x1.5 O-ring
M12
C M18x1.5
D M18x1.5 O-ring
E G1/2 M10
M10x1
U G1/2 O-ring
G M22x1.5
Q M22x1.5 O-ring M12
M
F 3/8-16 UNC 3/8-24 UNF
3/4-16UNF O-ring
| M10
M10
N M10x1.25

F1: 80P, T, Al BRORE14 mm, (EEIZMC. VBIRE16 mm,
Note 1: Ports P, T,A,B Depth : 14 mm; Column Mounting C & V Depth: 16 mm.
2. BEtUBOEESIUINBERS.

Note 2: The code of other ports dimensions will be listed in an agreement.

4



@ AREZENRFEIRAE

Hanjiu Hydraulic SHIJIAZHUANG HANJIU TECHNOLOGY CO.,LTD.

101-1. 2. 3 RIIEHERKEE
101-1,2,3 Series Hydraulic Steering Control Units (SCU)

101-1. 2. 3 F=RiT# %S Order Code

Pos.1 Pos.2 Pos.3
Lo | - [« [ - e ] -] ¢ ]
| Pos.1 | - |Djﬁgﬁf§— Function Code |

Hb. 1: 70T /M 1:0pen Center Non-Reaction
2: FFivE/ M 2:0pen Center Reaction
3:AiTc M 3:Closed Center Non-Reaction

| Pos.2 | - |}5|E§ Displacement mL/r |

50, 63, 80, 100, 125, 160, 200, 250, 280, 315, 400

| Pos.3 | — | #BOEE Ports Code |
A\ B\ C\ D\ E\ U\ G\ Q\ M\ F\ I\ N

A2 : For example:
101R3i&ELs, FIOJTT/RM, HE125mL/r, Order code
TUHOIRMCAGT/2, FEBHROEAESIERIRY 101-1 - 125 - E

M10, BREESIIRESA: 101-1-125-E
Ports:P,T,A,B G1/2; Column

Mounting Thread-C M10
Displacement: 125 mL/r
Open Center Non-Reaction




»

Hanjiu Hydraulic BREENRRBIRAF

SHIUIAZHUANG HANJIU TECHNOLOGY CO.,LTD.

1018-1. 2. 4 RIERKERFE
1015-1,2,4 Series Hydraulic Steering Control Units (SCU)

101S-1. 2. 4R T WEEOEMESIHERIBYR T SCU 101S-1,2,4 series inherits the steering function of 101
101 25N REEOREEINASE, 101SATIEGSIS series both in the structure and in the principle. The feature of
S0 ZTINEN NEZ2R. B0, ASERLRA 101S series is to have the following valves functions

- NEEAE - N N~ incorporated inside one housing as follows: the relief valve, the
Eﬁgggﬁgﬁg&?;%ﬁ%?é%ﬁ%@%%HWZ&EP IR IER shock valves, the suction valves and the check valve according

to the different requirement upon the base of the 101 series .
This kind of structure is more compact, and it's more convenient
in operation.

#2145 AF Order Code

1018 — ) — OO — L) — [

MO
Ports Code
——— ZEREREE
Relief Valve Pressure Settings
HE
Displacement
DEEsS
Function Code
1018 RINE KOS (SEAIR)

101S Series Hydraulic Steering Control Units(with integrated valve)

I RERFS Function Code

101S-1 101S-2 101S-4
RN FoaER N RN
Open Center Non-Reaction Open Center Reaction Open Center Non-Reaction




*

Hanjiu Hydraulic AREENRRBIRAF

SHIUIAZHUANG HANJIU TECHNOLOGY CO.,LTD.

1018-1. 2. 4 RINEREE LR
1018-1,2,4 Series Hydraulic Steering Control Units (SCU)

FEHARSE Main Specification

Parameters Type  101S-#-skss-sts-x
Function Code 1,2,4 1,4
Displacement(mL/r) 50 63 80 100 125 160 200 250 280 315 400
Rated flow (L/min) 5 6 8 10 12.5 16 20 25 28 32 40
Max. input pressure (MPa) 17.5
Relief Valve Pressure Settings (MPa) 06,07,08,10,12,14,15,16,17.5
Shock Valves Pressure Settings (MPa) 12,13,14,16,18,20,21,22,23.5
Max. cont. back pressure (MPa) 2.5
Weight (kg) 5.75 5.81 5.89 5.96 6.1 6.3 6.5 6.73 6.91 71 7.5
Dimension L (mm) 130 132 134 137 140 145 150 156 161 166 176

i%1£ R~ Mounting Data

$82+0. 3 16/32-12-30° (SAE)
= . depth15
_ =t
]
H \.
- = ‘
o3 1 ] .
SL IRRISREE @
© j i
(t—4
I '
7] 28 44
- 1
if 4847 Ports Threads
3 P. T. A, BHID SERIBC SEBRAY
Code Ports P,T,A,B Column Mounting C Valve Mounting V
A M20x1.5
B M20x1.5 O-ring
M12
C M18x1.5
D M18x1.5 O-ring
E G1/2 M10
M10x1
U G1/2 O-ring
M M12
F . 3/8-16 UNC 3/8-24 UNF
| 3/4-16UNF O-ring M10
M1
N M10x1.25 0

E1: SBOP. T, AL BEJRE14 mm, jERIRLC. VEIRE16 mm,

Note 1: Ports P, T,A,B Depth : 14 mm; Column Mounting C & V Depth: 16 mm.
x2: AtUBOEEOTMNMRENS.

Note 2: The code of other ports dimensions will be listed in an agreement.



Hanjiu Hydraulic

\%9 AREZENRFEIRAE

SHIUIAZHUANG HANJIU TECHNOLOGY CO.,LTD.

101S-1. 2. 4 RILRIEEZMEE
101S-1,2,4 Series Hydraulic Steering Control Units (SCU)

101S-1. 2. 4 F=RiTE %= Order Code

Pos.1 Pos.2 Pos.3 Pos.4
lros [ - [+ | - e | - [ e [ - [ ¢ |
| Pos.1 | - |DJ§E?§§— Function Code |

Hb. 1: 7T /M 1:0pen Center Non-Reaction
2: 7 ivE/ N 2:0pen Center Reaction
4:FJo/ M 4:0pen Center Non-Reaction

| Pos.2 | - |;HE§ Displacement mL/r |

50, 63, 80, 100, 125, 160, 200, 250, 280, 315, 400

| Pos.3 | - |$mﬁj€]§*§ﬂzzﬁélntegrated Valve Parameter|

LLREINSE(E: Relief valve pressure settings (MPa):06, 07, 08, 10, 12, 14, 15, 16, 17.5
(BIREIIREEBLEZERENS6MPa)

Shock valves pressure settings is 6 MPa higher than relief valve

SHO4LES Ports Code
A.B.C.D.E. U M F_I_N

| Pos.4 | -

RIFEZEI : For example:
101SRIFEMIgS, FUT/RMN, HE125mL/r,  Order code
ANOBEOQR, LEWEND10MPa, ZPEED 1015-1-125-10 - E

16MPa, IGHORMAGT/2, FEZH, ROEE=
EFIEMI0, Ports: P, T ,A, B G1/2;
RO IRmSA: 101S-1-125-10-E Column Mounting Thread C M10  ;

Relief Valve Pressure Settings: 10Mpa
Shock Valves Pressure Settings: 16MPa
Displacement: 125 mL/r

Open Center Non-Reaction




Hanjiu Hydraulic

*

AREZENRFEIRAE

SHIUIAZHUANG HANJIU

TECHNOLOGY CO.,LTD.

101(S)-5(TY(TE)(L)(ENTX) &I &k Ekm=%

101(S)-5(T)(TE)(L)(E)(TX) Series Hydraulic Steering Control Units(SCU)

i

101(S)-5(TUTE)L)(E)TX)RIIE R EROZE AT HE
ERREROAL.
101S-5_ 101S-5L 101S-5ERI TR KO8R
VERSOI, SPVFRULTRRBRIVERDEER.
101S-5LAAN £ EIL S ELLEDANS IH T LSDHIE
NES. KIESEEEBIEHARY:
101S-5ERII =R KOs AELE O SIH S AZIBH
OBEDES, KBESEXLGBITHARA.
101S-5T. 101S-5TERIERE.ROSABTERD
I, SPVLGIDYXL. YXLAVWLSCHRAEINERDHBA.
101S-5TERIIZREILOISSAELZ DANS B T AZIBH
OBENES, KESEEGBITHARLR.
101-5TRIEREKROSABIVERED I, LR
DYXL. YXLAWACHRABEINERDER, HEERRZ
SRR L,
101-5TXARIEREFE O TPy A G TH
EAEY, XMPIEOESFILFA . LFBIUREMARECERA.

#2450 Order Code

Lo — 0

L BOMS
Ports Code
233
Displacement
AR,
Load Sensing

10

01 — 5T — LIL L

SCU 101(S)-5(T)(TE)(L)(E)(TX) series is used in the load
sensing steering system.

SCU 101S-5,101S-5L,101S-5E series adopt modulary
mounting type and can only be used with PVFx* type priority
valve via modulary mounting.

SCU 101S-5L series guides the pressure signal of port LS out
of prot LL, and transfers the pressure signal to the electrical
control system.

SCU 101S-5E series guides the pressure signal of port A or B
out of port EL. and then supplies the pressure signal to the
electrical control system.

SCU 101S-5T,101S-5TE series adopts Pipe mounting and
via pipe mounting can be used with PVL* or DYXL,YXL type
priority valve.

SCU 101S-5TE series guides the pressure signal of the port A
or B out of port EL.and then supplies the pressure signal to the
electrical control system.

SCU 101-5T series adopts the pipe mounting, it can be used
only after the pipe mounted with the DYXL,YXL type priority
valve. and the relief valve is integrated in the priority valve.
When the 101-5TX series SCU is in neutral position, both of its
left and right cavity are connected with T port. This kind of SCU
are used with LFA,LFB type flow amplifiers.

BERESI
,Pipe Mounting

101 RIEREROSE (RSEMIR)

101 Series Hydraulic Steering Control Units (without integrated valve)



AREZENRFEIRAE

Hanjiu Hydraulic SHIJIAZHUANG HANJIU TECHNOLOGY CO.,LTD.

101(S)-5(M(TE)(L(E)TX) R 5| &K EF [E177
101(S)-5(T)(TE)(L)(E)(TX) Series Hydraulic Steering Control Units(SCU)

#5958 Order Code

101 — STX [ J] —

X — o — 0
LEDWE%

Ports Code

HE

Displacement

AEERE
Load Sensing

101 /I ER[EEOSS (RSERIF )
101 Series Hydraulic Steering Control Units ( without
integrated valve )

1018 —5[ [ J—0L)C— L — [

BOMAS

Ports Code

ZEREINEEE

Relief Valve Pressure Settings

A2

Displacement

AEfRRE . &S TARILESHIBMNG
Load Sensing Connection, Output signal
101SAYIEREIROES (SEERID

101S Series Hydraulic Steering Control Units
(Including integrated valve)

10



@

Hanjiu Hydraulic

AREZENRFEIRAE

SHIUIAZHUANG HANJIU TECHNOLOGY CO.,LTD.

101(S)-5(T)(TE)(L)(E)(TX) &5l & EiE [E158
101(S)-5(T)(TE)(L)(E)(TX) Series Hydraulic Steering Control Units (SCU)

I gEFF= Function Code

Modulary Mounting

== i | |
I g ! 1 :
I . I
; ! | . ! N
‘ ! ‘ i I I ‘ I
| b= TT : O t : !
\ - i i = e | ‘ ! = i
i TF | L | I : ’ 1 ‘/ H ! i ‘ & F !
: L; = \( | E ‘L ! = LJ/\ ‘\ ]!
T o o1 ‘ o
¢ 3 : . e
: I - | ! o ! e
@1 I ,@L, i !
: LL ){( ] 9 Lii,,)k74 i LL ! Li,,,li( L@EL
———— L 7777777777777777777777 o [ . R — = —1--
LA, pr Liserf A p Ls Tl 1B A s Tl B
101S-5 101S-5L 101S-5E
RTVER

101S-5T

101S-5TE

101-5TX

BIER
Pipe Mounting

11




=

Hanjiu Hydraulic AREENRRBIRAF

SHIUIAZHUANG HANJIU TECHNOLOGY CO.,LTD.

101(S)-5(T)(TE)(L)(E)(TX) RII& ik EZE @S
101(S)-5(T)(TE)(L)(E)(TX) Series Hydraulic Steering Control Units (SCU)

FEHASH Main Specification

Parameters Type 101-5T(TX)-###-%, 101S-5(T)(TE)(L)(E)-#-sx-*
Displacement(mL/r) 50 | 63 | 80 | 100 | 125 | 160 | 200 | 250 | 280 | 315 | 400
Max. input speed (rpm) 100 75
Max. input pressure (MPa) 17.5
Relief Valve Pressure Settings (MPa) 06,07,08,10,12,14,15,16,17.5
Shock Valves Pressure Settings (MPa) 12,13,14,16,18,20,21,22,23.5
Max. Cont. Back pressure (MPa) 2.5
Weight (kg) 575 | 581 | 589 | 593 | 6.1 63 | 65 | 673 | 6.91 7.1 7.5
Dimension L (mm) 130 132 134 137 140 145 150 156 161 166 176

i%E$#E R~ Mounting Data

v 27.5 $8210, 3 16/32-12-30° (SAE).
deptht5
L =
] \@
H A
- = L
o3 » ‘
101S-5 3 B R o) -
: <
i I8 \U
< - ST
H— /
;
o
60
68240, 3 4, 16/32-12-30" (SAE)
/ depth1b
- < TS
L
| H
I
ol =
101S-5L =3 L1 ) «lol o .
Q,:l < 8 2 =
< 4—4
ex M »
H
= |
i
Pt

12



@

Haniiu Hvdrauli AXEENREERAT
anjiu Hydraulic SHIJIAZHUANG HANJIU TECHNOLOGY CO.,LTD.

101(S)-5(T)(TE)(L)(E)(TX) Z&7I&kELEmEE
101(S)-5(T)(TE)(L)(E)(TX) Series Hydraulic Steering Control Units (SCU)

i##E R~ Mounting Data

48240, 3 16/32-12-30° (SAE)
depthl5
B -
m| N
ol = v
101S-5E < 1 BEE \ @ @
g 4 e .
e | Ia s
H AT
_{
84
L 105
16/32-12-30° (SAE)
52 depthls
T $8240,3
IW +
/ ] VA
101S-5T <D ] ) >
: BN H o/ )
- w - L
-z b8 1 -|-ls V*_ o
-« T P e MR ) ' <
S = i
D> - .
7—‘@7 -l »
4/ »
‘l -
2.8 22 v
7 28 44
L
16/32-12-30° (SAE)
depthls
$82+0.3 30
101S-5TE ] | N S
- - )
= ©
| 7 N |
— / p!
1 .lal = <l . Upr
“==s ) e
{ 4 | ' A
= \
- \
- { /
- ) .
J —
¢ 60
4 84
L 105

13



*

Hanjiu Hydraulic AREENRRBIRAF

SHIUIAZHUANG HANJIU TECHNOLOGY CO.,LTD.

101(S)-5(TN(TE)(L)(E)(TX) RII&HKER m2E
101(S)-5(T)(TE)(L)(E)(TX) Series Hydraulic Steering Control Units (SCU)

i%E#£ R~ Mounting Data

65.5 16/32-12-30° (SAE)
-V—J—LS 96210.3 LT depth15
AN o\ O
101-5T &S W — S
o o v . ':( ,/ ‘ \
101-5TX o2 A B H— - . 4/7 T2Y |
3 I T P 10 s l\ ’I ®
P4 I~ \ //._
é@ G B ; /
i s R 7/ - !
1\ - i Bg( | @
2.8 | 22 T w0
7|28 44 </ 84
L 105
#4847 Ports Threads
ASL P. T. A, BBO ERRNC ERRLV LSO LL. EL#O
Code Ports P,T.A,B Cqumn(I;/Iountmg Cqumn\l)/Iountlng Post LS Ports LL, EL
A M20x1.5 M12x1.5
B M20x1.5 O-ring M12 M12x1.5 O-ring
C M18x1.5 M12x1.5
D M18x1.5 O-ring M10 M12x1.5 O-ring
E G1/2 G1/4 M10x1
- M10x1 - -
U G1/2 O-ring G1/4 O-ring M10x1 O-ring
M M12
F ) 3/8-16 UNC 3/8-24 UNF
| 3/4-16UNF O-ring V10 7/16-20UNF O-ring
M10
N M10x1.25
w $18.5 M10 M12 M12x1.5
H ®18.5 M10 M10 M12x1.5
1. HOP. T. AL BESRE14 mm, JEBIRLNC. VERRE16 mm, LS, LL, ELASRE12 mm,

Note 1: Ports P, T, A, B Depth : 14 mm; Column Mounting C & V Depth: 16 mm, LS,LL,EL Depth: 12 mm.

F2. BtHROERDIVDRENS.

Note 2: The code of other ports dimensions will be listed in an agreement.

14




@

AREZENRFEIRAE

Hanjiu Hydraulic SHIJIAZHUANG HANJIU TECHNOLOGY CO.,LTD.

101(S)-5(T)(TE)(L)(E)XTX) BRI &K IER 62
101(S)-5(T)(TE)(L)(E)(TX) Series Hydraulic Steering Control Units (SCU)

101-5T = RiTH %= Order Code

Pos.1 Pos.2 Pos.3 Pos.4
R T R O R S
| Pos.1 | - |DJ’§E?%§— Function Code |

5:7AEERE 5:Load Sensing Type
| Pos.2 | - | REREZEF T, Priority Valve Connection |
T:BTEHE T:Pipe Mounting

| Pos.3 | - |HE% Displacement mL/r |

50, 63, 80, 100, 125, 160, 200, 250, 280, 315, 400

SO Port Code |
A.B.C.D.E. U M_F_I_N

| Pos.4 | -

101-5TX = RiTH# 4= Order Code

Pos.1 Pos.2 Pos.3 Pos.4 Pos.5
IR S T O S N N
| Pos.1 | - |]7J;‘sj€ﬁ% Function Code |

5:AEERE 5:Load Sensing Type

| Pos.2 | - | EciREEE T, Priority Valve Connection |
T:&3)&E# T:Pipe Mounting
| Pos.3 | - | EB2RhNIHEE  Neutral Function of SCU |

X: HE@eshify, BEssZAoBONTHOBERN,
X: When the 101-5TX series SCU is in neutral position, both of its
left and right cavity are connected with T port.

| Pos.4 | - |}EIIE§ Displacement mL/r |

50, 63, 80, 100, 125, 160, 200, 250, 280, 315, 400

| Pos.5 | — | #BOMAE Port Code |
A.B.C.D.E. U M F_I_N

15



*

Hanjiu Hydraulic BAREENRRBRAF

SHIUIAZHUANG HANJIU TECHNOLOGY CO.,LTD.

101(S)-5(T)(TE)(L)(E)(TX) A2 BER RS
101(S)-5(T)(TE)(L)(E)(TX) Series Hydraulic Steering Control Units (SCU)

101S-5 = RiTH& 4= Order Code

Pos.1 Pos.2 Pos.3 Pos.4 Pos.5 Pos.6
L1os | - | s | | I R N
| Pos.1 | - |DJ§E?%§— Function Code |

507 {ERE! 5:Load Sensing Type

| Pos.2 | - |{7ﬁ§EHﬂj§}§H2ﬁ Priority Valve Connection |

Hoh: #3428 #RIZEE Omit: Modulary Mounting
T. B3E#E T:Pipe Mounting

| Pos.3 | - |%§{“§}§%ﬂ{%§i§}§ﬁ2ﬁ Electrohydraulic Control Signal Connection

Hp: fRE: BB RISS: Omit: No electrohydraulic signal.
L: LLOS|HBYZLSOEIES L: The pressure signal at LS connection drawn forth from the LL connection.
E: ELOS|HBVAZEBHOBEISS E:The pressure signal at the port A or B drawn forth from the EL connection.

| Pos.4 | - |}3E§ Displacement mL/r |

50, 63, 80, 100, 125, 160, 200, 250, 280, 315, 400

| Pos.5 | - |$ﬁ£ﬁﬂ§§ﬁzéﬁ’5‘ Integrated Valve Parameters |

B REINSTE(E: Relief valve pressure settings (MPa):06, 07, 08, 10, 12, 14, 15, 16, 17.5
(EPREDMSEEELZEZRENS6 MPa)
Shock valves pressure settings is 6 MPa higher than relief valve

| Pos.6 | -

SO4LES Ports Code
A.B.C.D.E. U M_ F_ I N W H

RZARZE5 : For example:
1018RFikAgs, AEHERRE, BEE  Order code
BOMER, BREGBSSMABHBOSIE,  1915-5TE-125-10- E

HE125mL/r, ADB2OR, Z2RES
10MPa, EPREN16MPa, TOBOREA —— PontstR TAB G1/2;
G1/2, BEMESERBYMI0, LSESO Column Mounting Thread C M10;
G1/4, ELIESOM10x1, Port: LS G1/4; Port: EL M10x1
O RS 101S-5TE-125-10-E Relief Valve Pressure Settings :10MPa;
Shock Valves Pressure Settings:16MPa

Displacement: 125 mL/r
Pipe Mounting,with an Electrohydraulic Signal

16



»

Hanjiu Hydraulic

AREZENRFEIRAE

SHIUIAZHUANG HANJIU TECHNOLOGY CO.,LTD.

103-1& 5| & ik E¥ [m 28
103-1 Series Hydraulic Steering Control Units(SCU)

103- 1A REEOSSOENEE, EBRIRT
BSERMMNEF101. 102RITREER, SIS EE
BFHE=ERE, R NBFHERERNEOEARS, W
X% . A, XESWEY, TREERELE. B
fersE, @B AR/ N DTRERR AR BEO D%
5, BYLRE. 5. I%.

U= 5% AH Order Code

103 — [ — DL — [
BOMHE

g

DMEERS

Ports Code

The structure of 103-1 series Hydraulic SCU is more compact
and its connection dimension conforms to the international
standard, while it is different from 101 and 102 series which are
suitable for assembly in the narrow space. It's widely used in
the low-speed vehicles, steering control system, such as forklift,
tractor, combined harvester, engineering or road construction
machinery,and the marine rudder, etc. It can obtain more
powerful output steering force through the input force and it
operates easily,flexibly and reliably.

Displacement

Function Code

103 A RELOEs

103-1 Series Hydraulic Steering Control Units

I 8EfF= Function Code

103-1
FINTR N
Open Center Non-Reaction

17



*

Hanjiu Hydraulic BAREENRRBRAF

SHIUIAZHUANG HANJIU TECHNOLOGY CO.,LTD.

103-1& 5| &k EH 028
103-1 Series Hydraulic Steering Control Units(SCU)

FEHARSE Main Specification

Parameters Type 103-1-xxx-x

Function Code 1 1 1 1 1 1 1 1
Displacement(mL/r) 50 63 80 100 125 160 200 | 250
Rated Flow (L/min) 5 6 8 10 12,5 16 20 25

Max.Input Pressure (MPa) 17.5

Max.Cont.Back Pressure 2.5
Weight  (kg) 3.85 4.0 405 | 410 | 4.25 4.4 4.6 4.8
Dimension L (mm) 123 125 127 130 133 138 143 149

#E#E R~ Mounting Data

84 16/33-12-30° (S4B)
} depthls
I
-
. -
- H
S IRRIERE 1
3 :
[
1]
6.9
L
S O%84r Ports Threads
Fi3Code P.T. A B0 ERIFLC RSV
- Ports P ,T,A,B Column Mounting Valve Mounting
A G3/8-19 O-ring
M10x1.25 M10
B 9/16-18UNF O-ring
C M18x1.5
D M18x1.5 O-ring M10 M12
M
F 3/8-16UNC 3/8-24UNF
| 3/4-16UNF O-ring 1
0 M10
N M10x1.25

5351 : EHHDP\ T\ A\ BE’Q;’K_\'E14 mm, EEQ%ZSZC\ VH’S]%E']B mmo
Note 1: Ports P, T,A,B Depth : 14 mm; Column Mounting C & V Depth: 16 mm.
F2: HEtUBOERSMIRENS.

Note 2: The code of other ports dimensions will be listed in an agreement.

18




AREZENRFEIRAE

Hanjiu Hydraulic SHIJIAZHUANG HANJIU TECHNOLOGY CO.,LTD.

103-1R 5| &% EH 025
103-1 Series Hydraulic Steering Control Units(SCU)

FEEiT 42 Order Code

Pos.1 Pos.2 Pos.3
L103 | - | ot | = e | - | ]
| Pos.1 | - |DJ§E?‘§§— Function Code |

1. FHLWF M 1: Open Center Non-Reaction

| Pos.2 | - |HE% Displacement ~ mL/r |

50, 63, 80, 100, 125, 160, 200, 250

| Pos.3 | — | ORI Ports Code |
A.B.C.D_.F. M I_N

MNFRZR For example:
103R 51 %EMSE, FILVTRE, HE Order code

125mL/r, TOBOIRSIAM18x1.5, KA = 103-1-125- C

FEREIZZMI0, SHOBmMESIRAMI2, Ports: P, T, A, B M18x1.5;
O IRRESA: 103-1-125-C Column Mounting Thread C M10;

Valve Mounting Thread V. M12
Displacement . 125 mL/r
Open Center Non-Reaction

19



»

Hanjiu Hydraulic BAREENRRBRAF

SHIUIAZHUANG HANJIU TECHNOLOGY CO.,LTD.

103S-4 BRI £ K ERKEEE
103S-4 Series Hydraulic Steering Control Units (SCU)

103S-4 RV EO12SFREE5103-1 RIEOIZSBITHEEIN, 103S-4 series steering unit contains, in addition to the function of
NEELZLRANADBORNINEE. 103-1 series steering unit, also function of relief valve and inlet
check valve.

#U-2452A8 Order Code

1038 — 4 — 00— 0 — [

HOARS

Ports Code

REWEINRER

Relief Valve Pressure Settings

HE

Displacement

DEERS

Function Code

103S-4 RIIERE.Os (SEMR)
103S-4 Series Hydraulic Steering Control Units
(Including integrated valve)

I 8EfF S Function Code

A B
| | -------------------- ] |
| i
Q—_——
=
‘ T !
103S-4 ‘ J,l ‘
FFINTC S AL Mo |
Open Center Non-Reaction ‘ H AN ‘
b !
| i
i I |
| i
| i
| ]

20



*

Hanjiu Hydraulic BAREENRRBRAF

SHIUIAZHUANG HANJIU TECHNOLOGY CO.,LTD.

103S-4 RI| &l ER E =R
103S-4 Series Hydraulic Steering Control Units (SCU)

FERHARSE Main Specification

Parameters Type 103S-4-ssx-sx-%

Displacement(mL/r) 50 63 80 100 125 160 200 250
Rated flow (L/min) 5 6 8 10 12.5 16 20 25
Max. input pressure (MPa) 17.5

Relief valve pressure settings (Mpa) 06,07,08,10,12,14,15,16,17.5

Max. cont. back pressure (MPa) 25

Weight (kg) 4.75 4.81 4.89 4.96 5.1 5.3 5.5 5.73
Dimension L (mm) 123 125 127 130 133 138 143 149

i%E$#E R~ Mounting Data

84 16/32-12-30° (SAE)
58.4 depth 15
-
-
B © of oo s
103S-4 TP R =
8
L
sOY24r Ports Threads
A 19 P. T. A, BH#DO MERBIRL C GERBIRY V
Code Ports P, T,A,B Column Mounting C Column Mounting V
A G3/8-19 O-ring
M10x1.25 M10
B 9/16-18UNF O-ring
C M18x1.5
D M18x1.5 O-ring M10 M12
M
F 3/8-16 UNC 3/8-24 UNF
3/4-16UNF O-ring
| M10
M10
N M10x1.25

7E1: HOP. T. A, BEERE14 mm, JERIRMC. VEIRE16 mm,
Note 1: Ports P, T, A, B Depth : 14 mm; Column Mounting C & V Depth: 16 mm.
F2: BEfTHOERSIINRERS.

Note 2: The code of other ports dimensions will be listed in an agreement.

21



*

Hanjiu Hydraulic BAREENRRBRAF

SHIUIAZHUANG HANJIU TECHNOLOGY CO.,LTD.

103S-4 RI & ER02:
103S-4 Series Hydraulic Steering Control Units (SCU)

FmiT# %= Order Code

Pos.1 Pos.2 Pos.3 Pos.4
IRCESH I T I O T e
| Pos.1 | - |DJ§‘E?§§— Function Code |

4:FTc M 4:0pen Center Non-Reaction

| Pos.2 | - |HE§ Displacement  mL/r |

50, 63, 80, 100, 125, 160, 200, 250

| Pos.3 | - |§$|@]j§7]i§ﬁ@ Relief Valve Pressure Settings MPa|

06, 07, 08, 10, 12, 14_ 15 16 175
SWOMKES Ports Code |

| Pos.4 | -

A, B, C. D, F. M_ IL N

J)zzE==r P For example:
103S-4R3ikAs, FOTRM, HS Order code

125mL/r, AOB2OR, LEREN 103S-4 - 125-10 — A

10MPa, PUBOIREIANGS/8, KEMAZE

BIZEIM10x1.25, B0 E@MELS AR Ports: P, T, A, B G3/8;
M10x1.5, Column Mounting Thread C M10x1.25;
EERITHREY: 103S-4-125-10-A Valve Mounting Thread V M10x1.5

Relief Valve Pressure Settings: 10MPa
Displacement: 125 mL/r
Open Center Non-Reaction

22



»

Hanjiu Hydraulic AREENRTERAT

SHIIAZHUANG HANJIU TECHNOLOGY CO.,LTD.

109 BRI &REE =R
109 Series Hydraulic Steering Control Units (SCU)

109R Y| EREERAOSSERAERTN4/58%5 109 series hydraulic steering unit is an integrated orbital steering

MBS REEER, OMERDEHR. 2% unit with 4/5 tooth structure.This kind of steering unit has a

N N A~ N P small and exquisite structure with integrated check valve, relief
B P, SISR. ERRURNSEIN valve and shock valves and its mounting dimension conforms

B, TRl RCATHMEERER, W: M to international standard.This kind of steering unit is widely
MR ZE, NN (REERY). MBI /54,  used in mini vehicles, such as mini forklift, mini tractor (and

; = AESEIT AL\ other agricultural machinery), mini earthmoving machinery,mini
B EFTPERS. EESENE AR, municipal vehicle, etc. It can obtain more steering output torque

RE/RAWRBERO NG, BERRIFRED. R through input of less power, with features of easy, flexible and
B IEFRR. reliable operation.

#I=5AF Order Code

100 O — 1 — 000 -0 -0
L mmRvime
Mounting Data
REREINEEE
Relief Valves pressure settings
e
Displacement
DEERS: FINTRN
Function Code: Open Center,Non-Reaction
HhE. RFSER; Omit: Without Integrated Valve
S: XNSADEOR. LER. EPE
S: With Check Valve, Relief Valve, Shock Valves
V: RRSAODBE/E. 220 V: With Check Valve,Relief Valve
R: ®NLZZEI R: With Relief Valve
109RIIE R [EHEEIZS
109 Series Hydraulic Steering Control Units

I RERFS Function Code

[ Tt ) i Tt [ | =T ]

:ME' I Jﬁ_ : i P

| m— \ | [ ! —— |
wl S : W : :w

I f r\! | i /\[ ! /\‘

! | | | | |

109-1 109S-1 10QV-1 109R-1

23



*

Hanjiu Hydraulic AREENRTERAT

SHIUIAZHUANG HANJIU TECHNOLOGY CO.,LTD.

109 A&k ERK R
109 Series Hydraulic Steering Control Units (SCU)

FEHARSH Main Specification

Parameters Type 109%—1—s#ks—sx—s+
Displacement(mL/r) 20 32 40 50 63 80
Rated flow(L/min) 3~20
Rated Pressure(MPa) 12.5
Relief Valve Pressure Settings(MPa) 06,07,08,09,10
Shock Valves Pressure Settings(MPa) 12,13,14,15,16
Steering Torque(N-m) <1.8
Max. Cont. Preesure in Line T-P-(MPa) 1
Dimension L(mm) 87 92 96 100 105 113

i%E#£ R~ Mounting Data

5/8-18UXF

@34

s
-
I
i
-
|
\
i
i
i
i
i
i
i

5%6.5 DINGBSS 34 § 0-¢ing_7.65x1.78
20
s T B T —————1F -
E fd
=a1:20
o 28
L

24




AREZENRFEIRAE

Hanjiu Hydraulic SHIJIAZHUANG HANJIU TECHNOLOGY CO.,LTD.

109 ZRI&RIEHRE 2R

109 Series Hydraulic Steering Control Units (SCU)

4x8/16-18UNF :_ _°

oring 765178

o

[ | 8x6.5 DiNesss | 20

o86
7]
16.25
A
s NI
NH
N

HB-H.

4xH14xi, 5-bg

25



@ AREZENRFEIRAE

Hanjiu Hydraulic SHIJIAZHUANG HANJIU TECHNOLOGY CO.,LTD.

109 R &RERE M=
109 Series Hydraulic Steering Control Units (SCU)

109 = AiT& 4= Order Code

Pos.1 Pos.2 Pos.3 Pos.4 Pos.5

L1090 | » | - | v | - [ | - [ | - ] x|
| Pos.1 | — | EFRSEES Integrated Valve Parameter |

Hp:. (R4 72 Omit: Without valve

S: SZ£®. ADBEE. &9/ S: With Relief Valve,Check Valve,Shock Valves

V: S22, ADSGR V: With Relief Valve,Check Valve

R: S22 R: With Relief Valve
| Pos.2 | - |DJ§E\%Function Code |

1: 7 Jc /M 1:0pen Center Non-Reaction

| Pos.3 | |HE§ Displacement mL/r |

20, 32, 40, 50, 63, 80

| Pos.4 | - |$&Hﬂ§§ﬁzéﬁ/ﬁ‘ Integrated Valve Parameter|

ZLRENSE(E: Relief Valve Pressure Settings(MPa):06, 07, 08, 09, 10

(EPRENDBEEELLZERENDS 6 MPa)
Shock Valves Pressure Settings is 6 MPa Higher Than Relief Valve.

| Pos.5 | - |E}£Rjﬁ§— Mounting Data
A, WARNEHSHORT: A: Tapered 1:20, Key 5x6.5, Ports: 9/16-18UNF;
B. WAAHHORY: B: Tapered 1:12, With 11/16 In-40 Serrations and 5/8-18UNF, Ports: 9/16-18UNF;
C. WARAEEHORT: C: DIN 5482 B17x14, Ports: 9/16-18UNF ;
D. WARANEHHHORT: D: Tapered 1:20,Key 5x6.5, Ports: M14x1.5;
E. WABAEEHORY: E: Tapered 1:12, With 11/16 In-40 Serrations and 5/8-18UNF, Ports: M14x1.5;
F. WARANEESHORT: F: DIN 5482 B17x14, Ports: M14x1.5,
: For example:
WP Order code
109755k mzE, FILVT/RMN, Hg32mL/r,
seel. ADROR. 208, R2RED 00 S 1732-08-A4
8MPa, EERUAR, HEQB/ITRRESA: I— Mounting Data: A
109S-1-32-08-A. With Check Valve, Relief Valve Pressure Settings:

8 MPa, Shock Valves Pressure Settings:14MPa
With Displacement:32mL/r

Open Center Non-Reaction

With Relief Valve, Check Valve, Shack valves
109 Series Hydraulic Steeing Control Units

26



*

Hanjiu Hydraulic

AREZENRFEIRAE

SHIUIAZHUANG HANJIU TECHNOLOGY CO.,LTD.

1 Dustsealring

2 Housing, spool and sleeve.

Check valve and the seats for relief
and shock valves are locktited.

Ball 8.5 mm [0.33in]

Thread bushing

O-ring used with kin-ring (item 6)
Kin-ring

N O bW

Bearing assembly
10 Ring
11 Cross pin

14
13
12
15
16
17
18
19
20
22
23

Spacer
Cardan shaft
Set of springs
O-ring
Distributor plate
Gearwheel set
O-ring

End cover
Washer
Special screw
Screw

27

24
30
31
32
33
38
34
36
35
39
40

Name plate

Complete relief valve
Spring wire
Complete shock valve
Ball 3/6in

Spring

Rolled pin

Bushing

Ball

Kin ring

O-ring



T & E-T X HFEm

PROFESSIONAL ON HYDRAULIC-FOCUS ON HIGH QUALITY

North America

CIS

Europe 4_\

Middle East

Africa
Asia

S/C America
AXEENEEBIRAT SHUIAZHUANG HANJIU TECHNOLOGY CO.,LTD.
itk . PEIHARERIBEILAE368E Add: No. 368 Youyi Street, Shijiazhuang, Hebei, China
i . +86 (311) 68123061 Tel: +86 (311) 68123061
f£E : +86 (10) - 80115555-568844 Fax: +86 (10) - 80115555-568844
fR4s : 050000 Post code: 050000
pgik : www.hjhydraulic.com Web: www.hjhydraulic.com
HBFE : manager@sjzhjsm.com Email: manager@sjzhjsm.com



